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56. I was walking down the street when the accident happened.

57. Idon’t think you are right.

58. He’s going to be a policeman when he grows up.

59. We should learn how to get on well with our teachers and classmates.
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Possible version:
May 22nd
Dear Jim,

I am excited to hear that you will come to learn Chinese in our school. Now let me tell you
something about our school. Our school is very beautiful and was built 80 years ago. There’re
many trees, flowers and a lot of grass in it. We have two very nice teaching buildings and one
dormitory building. There is also a new gym, a computer room and a large library.Above all, there
are many excellent teachers in our school. They are kind to every student, and give very
interesting classes. I like our school. I really hope you will like her too.

Wish to see you soon!

Yours,
LiHua
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